5 ! Ql{ Aﬁjﬁ@ﬂw Name.

alad e

© simplty a6 much oo pes=ibole
o) (x-8) (1x)
(2x-)( x-4)*

o) &) (Xzﬂ(oxﬁ)_

( k=)  x%-H)

o) X+

Ix%-x-10

Ca@biﬂd’-% C o Do T P 4o cancel

@ i ¢ completely HinT j&j‘a oL o
. any Lot
. :2 a(@ nﬁ"
o 02 L
n n&- "



Combine $
B) Simp\Fly Complefely

i

S | a)
55 e ..
4

“2n 2

(D solve the ollowing sysem TWICE | once umir
vgliminadion’ and once vsing "Subctdution
Keep 2V answers expct™ Al arvther shaot-F paper
05 heedead .
; )
NZx-2y = 5 bR oized’s

o]

(ox——"'Tj——:”f)



